38 agzlgall Job> Gusd zloj Joasill LBMM glo 3l ol aakssV gl agalgall Hlaall,

1. agzlsall gl uss Jisill L5 Jolall .olanlgall

e aiall p8,. SF-38Z
e 7.5 * 38 a=Jimm 38 * 38 , LISmmM geSubudl oo gl blasll cdasivg . puuzll
e M8 * 70 a>l> awwlow o]l

« 304/316 [xuall pglioll 5¥g4ll

o Jsiaall ol Jsiaall slgiVl

sz yiguaS jlgz 50 Jso

2. sl L6 gl s Jolad g0

3. dgzlso z3lai oo LiST FYI



Part No. Material Finish Body Bolt size

\ | = 30x10; 30x25mm

: * SF-30 = A0x10; 40x30mm * M10x120 bolt
_ f";’i * SF-40  =AISI304 =S5ath |« G0x12; S0x30mm = M10x72 wood screw
o = 5F-50  =AISI316  =Mimor | = 50x12; S0x50mm = WEX100 bolt
= SF-504 = silicon rubber gasket = M8 x72 wood screw
included
Part No. Material Finish Body Bolt size
= hollew tvpe
. SE.387 " AlS] 304 = Satn = 38%7.5:38x38mm * MEXTD hexagonal
*AISI316 =Mimor | ® silicon rubber screw
gasket included

Material Finish Body Mounting plate size

= 50x10;50x30mm

= silicon rubber = 200x100x10mim
gasket included

= AISI 304 = Sabn
= AISI 318 = Miror

2ol aligb dlio o+ xil Sl Ml aiss s,k 6+ aalize loll OY1 wlezlgall o0,



Electroplated Black Finish Glass Standoff

mﬁ @ Calia Chen

Sales Manager
% (86) 1359027 3543

RN T RTLL B Rl Al 10928 42 B i A B 3585003
Room %&ul{lmg 3, Yilida Building Ne. 1092

it El’gfma;a:han District, Shenzhen, China

-3 ,_Eémss] 8603 7559

& (86-755) 8637 2611

B sales0l@launch-china.cn
’m www.launch-china.com

-www.chinabalustrade.com




